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Warning: col ['FR'] missing
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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

|
400 —@— setVIl ETcl -
—0— setVl_fgRec
R R ‘ —@—  setVI_WN
300 A \, | ! |
\ / —@— slSetVI
WERAMEL N Vayg 2
ﬂ et = AN ‘ ‘
200 - 'Q‘W’J' P =
-7 V - p 24
§- Y \
100  aa é
.\ AL ¥ |
MBS 4TS s as 24
0 i
0 10 20 30 40 50 60 70 80



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2750 -

2500

2250

2000

1750

1500

1250

N

WarMing: col |[['FVIEC'] is missing

/,
A

—&— ECC
—e— ECI

10 20 30 40

50

60

70




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r—o’, 'PHIl:g-0o' 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3_0, Day=70 (2025-06-14)
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P3

BTiE) | GEBIATK (F) | EME (EH/) | BEBRERE (/X)) | XK EFRF

06:30 390 150. 0 0.593 FA| 1E2i%@06:30 B3h (kAR
07:30 390 150.0 0.593 BH| 1{Ri%@07:30 B (RAMEEE)
09:20 390 150.0 0.593 FA| {Ri%@09:20 Bz (RAEEE)
13:15 390 150.0 0.593 FA| 1BRi%@13:15 B3h (RAEREE)
14:10 390 150.0 0.593 FA| 1BRi%@14:10 B3h (RAIERESE)
15:10 390 150.0 0.593 |&Z=| 1Ri%e15:10 B (KREAEZERSE)
17:00 390 150.0 0.593 [Z=| BRige17:00 Bzh (REEREE)
23t 2730.0 (7% 1050.0 EGHKEC: 2290, PH: 6.5

TEREHERE STEIEART (202.0 :

ERINSLPRIERE148.0 ml.

HREUR Y S RAEHRPH 6.5

FEERECE (2146.0 vs 4625.0) 45
REVEIWN S Kt iKEC 2288. 0

148.0), FIREIKERFBERE




P3_0, Day=68 (2025-06-12)
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P3

BfiE) | GEBATK (FY) | EHRE (EH/) | ERERE (B/R) | XK ERE

08:25 390 150.0 0.593 5| {Rige08:25 Bz (KRFAERSE)
09:00 390 150.0 0.593 F[ BRi&@09:00 BE1 (RAERERE)
09:50 390 150.0 0.593 El 1BRi&@09:50 Bz (RFAEREEE)
10:30 390 150.0 0.593 El 1Ri%010:30 B3 (KRAERSE)
11:10 390 150.0 0.593 Fl BRige11:10 Bz CGRAERESE)
11:45 390 150.0 0.593 = Rige11:45 Hah (REAEESE)
12:20 390 150.0 0.593 Sl 1Rige12:20 B3 (RAERSE)
13:05 390 150.0 0.593 F BRi&e13:05 Bz (GRAERESE)
13:50 390 150.0 0.593 5| {Ri%e13:50 Bz (GRAERSE)
14:30 390 150.0 0.593 =l 1Rig014:30 B3 (RAERSE)
15:10 390 150.0 0.593 El BRige15:10 Bz CGRAEESE)
15:55 390 150.0 0.593 5| {Ri%e15:55 B3 (GRAERSE)
16:55 390 150.0 0.593 5 {Ri%016:55 Bz (FRAERSE)
=23t 5070.0 (13%) 1950.0 ZHIKEC: 2290, PH: 6.5

FEREHLERM 8 STHEAEARST (190.0 : 133.0), AIEEKREERE

FORGEBR R R IRIE B Z Y (390 vs 441.0))

ZRIALBREBRE133. 0 ml.

large discrepency for begining water status (55:263.0), set to 55 ml.
IEENZ WS RHIGPH 6.5

#[EKECE (2178.0 vs 4755.0) i35

IREVFZ W S RIHEIREC 2288.0

EORGEBREC (1955.0) SiREIEN (2290) REKRK, BEHRE.



P30, Day=67 (2025-06-11)
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P3

BfiE) | EBATK (FY) | EHRE (EH/) | ERERE (/R | XK EE

08:15 357 150.0 0.593 5 Bri%@08:15 Bzh (KEERESE)
08:55 357 150.0 0.593 5 B31%@08:55 Hzh (KBEREE)
09:50 357 150.0 0.593 5 ’Ri%@09:50 Bz (KRFAERES)
10:45 357 150.0 0.593 5 BRi%@10:45 Bzh (RPERESE)
11:25 357 150.0 0.593 & Ri%e11:25 Bzh (GRAERESE)
12:10 357 150.0 0.593 5 BRige12:10 Bzh (REERESE)
12:55 357 150.0 0.593 5 Big@12:55 Bzh (kAEREE)
13:35 357 150.0 0.593 & ’Ri%e13:35 Bz (RAERSE)
14:15 357 150.0 0.593 5 BRige14:15 Bzh (REPERESE)
14:55 357 150.0 0.593 5 BRig@14:55 Bz (RPERSE)
15:40 357 150.0 0.593 & Ri%e15:40 Bzh (GRAERSE)
16:30 357 150.0 0.593 5 BRi%@16:30 Bzh (KREPERESE)
17:35 357 150.0 0.593 B 3F1T017:35 Bz CGRAEERSE)
=it 4641.0 (13%) 1950.0 FHIKEC: 2290, PH: 6.5

MEREHLER E S FEESRTT (172.0 :
LOREBIRTC R IRAE R Y (357 vs 441.0))
BRI\ EPRERE121.0 ml.

121.0), FIREIKREBERE

large discrepency for begining water status (83:255.0), set to 83 ml.
PB4 RFHHKPH 6.5

FE XK it [l RECEI R R % .

H#E[ERECE (2199. 0 vs 4633.0) 135
BN S K REC 2288.0




P3_0, Day=66 (2025-06-10)
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